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= 5,445
Al 8,129
- 60,989
=0 g2 & =& ZH| 1,900 1,900 0
= 570
Al 39
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B olgel 2o
el UYe WSS AAl (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 931
201 er23y| 1,900 1,900 0
= 570
Al 39
- 931
01 At2teltl 1,900 1,900 0
Odgt==H| 1,900
O & Z&H & 1,900,000 1,900
= 570
Al 39
- 931
g s 23| 24,222 36,593 A12,371
= 4,875
Al 7,730
- 1,617
201 er23| 4,931 7,241 22,310
= 1,977
Al 886
T 2,068
01 At2t2ltl 4,931 7,241 A2,310
Oottseel A8 28 3|
71,0002 711
2 711
ORISR AOIH TS 2|
4,220,000& 4,220
= 1,266
Al 886
- 2,068
301 LEtE NS 19,291 29,352 210,061
= 2,898
Al 6,844
- 9,549
11 dALREIXIE S 7,037 8,171 A1,134
oglglel el s 653,000 653
= 196
Al 137
- 320
OJIsXal s d2W=s 5,047,000& 5,047
= 1,514
Al 1,060
- 2,473
Oxgogt] s4(ws0idl)
1,337,000& 1,337
= 401
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el UYe WSS AAl (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 281
T 655
14 DI A3 12,254 21,181 £~8,927
O DNEEY LAY
963,000& 10 9,630
Al 4,815
- 4,815
OglgIus A= 2,624,000& 2,624
= 787
Al 551
- 1,286
glgtel W= - 2d A& 48,441 47,820 621
201 2= 47,081 46,160 921
01 At22t2lt] 47,081 46,160 921
Oget=ZH| 35,081
OuLAUE WFSANA H&SK F
50,0003 %102 A 500
OuULANFTH A2F 7
500,000 500
o nused % 7Y
60,0002 *13IH*12] 780
oglgel Jt2J] Y
3,00024 %1, 72000 2=*10H 5,160
oug=s P 52,8002 x100& 5,280
oglgel Ji2I| Akt
2,953,600& *32 8,861
otlgflused SXA ANHuE A
14,000,000 14,000
O u=HI 12,000
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202 04| 810 810
01 =LHO LI 810 810
o220l 810,000 810
203 HR=H] 550 850 A300
03 A=A 2= 550 850 A300
OF2AIH =X 550,000 550
2R A2 ZHl =A 2c 44,108 41,853 2,255
Al 10,050
- 34,058
22 Al =Xl2 11,952 10,033 1,919
201 fet=3| 11,952 10,033 1,919
01 AtR2t2|HI 1,200 457 743
Oget=EH| 1,200
OLULIAANE ARF F 500,000 500
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OHIASAIE =Z2ZA £AB8F 7Y
700,002 700
° 22| 10,752 9,576 1,176
OB2R2 2 Al 10,752
oHl4Z4+AE HIIe3
123,000& *7 0 2% 12& 10,332
OHl& =AM &ot=ER23
5,000& 7 A+ 122 420
QIR A &= - 22 28,156 27,820 336
Al 8,050
- 20,106
201 B2 AY| 28,156 27,820 336
Al 8,050
- 20,106
01 At 2elt] 7,056 0 7,056
OflgAgAld &Ietd2te|d|
84,0002 %774 A+ 122 7,056
° ZZ2YH| 21,100 27,820 16,720
OA&ZHIRAILI 21,100
oRIgSIZHAE SR
10,000,000& 10,000
Al 5,000
- 5,000
OQILAUUIAIE KX
6,100,000& 6,100
Al 3,050
- 3,050
oglgZ A4 JH| 5,000,000& 5,000
olere| &HHl 22 4,000 4,000 0
Al 2,000
- 2,000
206 =4l 4,000 4,000 0
Al 2,000
- 2,000
01 =l 4,000 4,000 0
O E=:] 4,000
OXNSSILAN ZHl 2
4,000,000& 4,000
Al 2,000
- 2,000
2l HIACHE] 13,880 13,238 642
NAS AAl 13,880 13,238 642
201 B2 AL| 13,880 13,238 642
01 AtR22elt] 13,880 13,238 642
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SN SR
B ol 2o
el ol SdXE 2 (SH &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Osted=dd g1t S X 2X=
1,000,000 1,000
OstgEd MNFRES 7Y 220,000 220
Ostg=d % S A 1,600
@52 (7, SHAS)
60,0002+ 1574 90
@50 B)
700,000 * 1K 700
@=] 1,680
OX¥ 8,000 x20& x241x3 960
o==U 8,000 » 102 *x341x3 720
OsedEldsl aday =4
70,0002 x3EH #4353 840
308 XM SOIE 96,040 78,000 18,040
R obzZEdANABL4EX 96,040 78,000 18,040
ouldlz sdXId 2X 96,040
OXS ge & 19,979,000& 19,979
ou=s =& XN 29,021,000 29,021
2U 28 N 47,040,000& 47,040
Y =S 3 229,081 244,640 15,559
el 2| (et S2n) 140,419 150,458 10,039
el 24| 140,419 150,458 10,039
101 @124H| 140,419 150,458 210,039
01 &= 126,313 134,546 N\8,233
Ozxu=z2e=g 126,313
OAIZIRIZ R4S (2 BHA)
12,5312 #35A1 2248« 123 126,313
02 JIEtME = 14,106 15,912 21,806
Ox=22=+¢ 14,106
OARIZR4=Z (AIIEEADIH TH)
11,3193 18AI 2t 1 * 123 2,445
OAZIZ2R4=Z (AIRIEEADIH O0H2)
9,620 x2A| 2+x38 123 7,620
OAIRAZ R4 (AIZMIEIADIH OF=)
9,620 x35AI 2Hx 1123 4,041
JlE2gsI(ere S22 88,662 94,182 25,520
Jl=2&H] 88,662 94,182 25,520
201 el 30,732 32,412 21,680
01 At22t2lt] 30,732 32,412 21,680
OJl= A2l 21,0002 x27 B« 122 6,804
O=&4 294 100,000& * 12 1,200
OSZHESAHI
8,000 x26H +8A!x 12 19,968
OSAPDI X2 230,000 «1CH* 122 2,760




SN QBT
I dy2g3d
Selr J12ZH(¢EESZ) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 50,640 54,480 23,840
01 2LHoIH 50,640 54,480 A\3,840
OZLH0AH] 20,0003 x26ZH 8 * 12 49,920
OZLHOHI (Al LI OF2)
20,0003 1H+3& 122 720
203 =4l 7,290 7,290
01 D22 HARFA| 2,970 2,970
Ot AI=E 3,300,000 *90% 2,970
M EA2ER=AH 4,320 4,320 0
OJIEH(30H0l5tH) 400,000 122 *90% 4,320
Hees(erdsz) 489,000 470,000 19,000
WRHeHXIE (AN E21Y) 489,000 470,000 19,000
Met2eDls &S 489,000 470,000 19,000
RISdES 489,000 470,000 19,000
UIPIETSE—= 489,000 470,000 19,000
Olt2eDl=s d&= 489,000,000 489,000




